SO/

l
SPRAYING DEVICES, INC.

Detail A

SDI Turf Walker Spray
Boom, Model WB10/3/10 PI304/0206jj

Spraying Devices, Inc., P O Box 3107+Visalia, CA. 93278¢Tel: (559)734-5555+Fax: (559)734-5591




Item Part
Number Number Description Qty
WB10/3/10 | Turf Walker Spray Boom

1 64-043 Spray Gun 1
2 51-401B Close Nipple 1/2" Brass 1
3 27-100 Pressure Gauge 0-100 PSI 1
4 50-460B Bushing 12 x 1/4" -Brass 1
5 11-071 Tee Bracket 1
6 50-440B Cross 1/2" Brass 2
7 50-410B Street Elbow 1/2" Brass 1
8 60-223 Ball Valve 1/2" 3
9 55-095 Adapter 1/2 MPT x 3/4" HB Brass 3
10 24-110 Hose Clamp #10 6
11 21-930 Hose 3/4" ID 200 PSI, Per Foot Specify
12 80-029 Five Spoke Wheel 12-1/2 x 1/2" Bore 3
13 11-072 Tubing Frame 2
14 64-280 Split Eyelet 4
15 41-514 Lock Nut 1/2" 1
16 42-104 Flatwasher 1/2" 1
17 52-588 End Cap 2
18 34-119 Hex Bolt 1/2 x 5" 1
19 11-069 Frame 1
20 69-910 Steel Sash Chain, Per Foot Specify
21 69-238 S-Hook 2
22 52-110 Adapter 1/2 FPT x 3/4" HB 1
23 11-073-1 Mounting Bracket, Tube to Axle 2
24 53-092 Elbow Adapter 1/2 FPT x 3/4" HB 2
25 64-411 Single Nozzle Body 12
26 51-430 Left Boom Tube 1
27 47-104 U-Bolt 2
28 51-431 Center Boom Tube 1
29 52-418 Pipe Saddle 3
30 11-471 Outer Boom Hinge 2
31 51-432 Right Boom Tube 1
32 48-047 Shoulder Bolt 1/2 x 2-1/4" 2
33 42-104 Flatwasher 1/2" 2
34 43-503 Lockwasher 3/8" SST 2
35 41-503 Hex Nut 3/8" SST 2
36 64-416 O-ring 12
37 64-414 Diaphragm 12
38 64-415 Check Valve 12
39 64-403 Strainer Screen 12
40 64-404 Gasket 12
41 64-643 Tip TP8003 VP, Polymer 12
42 64-406 Black Cap 12

Spraying Devices, Inc., P O Box 3107+Visalia, CA. 93278+ Tel: (559)734-5555+Fax: (559)734-5591




SPRAYING DEVICES INC.

~ |
: :j@jﬁ 2 L--sm@@———ql

Part #64-043

Riml
) J0] @@@)@m@)&.ﬂlﬂl

15 ‘7 18 19 zo

10 12 4514 15

Item No. PartNo. Description Oty.
B 64-6866-12 #43C 1/2 Pipe Adapter 1 : @— 2
e2 N/A *32 x 3/8" Screw, Stainless Steel 6  64-192SS No Longer Available
o3 N/A Teflon Seat Plate 1 64-6710-TEF No Longer Available -
o4 N/A Seat Holder, Brass or Aluminum 1 CP6863 No Longer Available
5 N/A Stainless Steel Stem, Type 416 1 Z-CP6864416SS No Longer Available
**6 Z-CP7079AL Aluminum Adapter Gasket 1 )
7 64-873 Inlet Body, Brass or Aluminum 1
**8 Z-CP6601302SS  Packing Washer Type 302 Stainless Steel 1 :
e9 N/A Leather Packing 3 CP6602-LEA No Longer Available
**10  Z-CP19237 Packing Screw, Brass or Aluminum 1
**11 Z-CP6599 Lock Nut, Znc Plated, Brass or Steel 1 Co
el2 N/A Washer, Stainless Steel, Type 302 1  CP7709-302SS No Longer Available
e13 N/A Trigger Stop Spring, Stainless Steel 1 Z-CP6595SS No Longer Available
14 N/A Washer, Steel, Zinc Plated 1 CP7991-1ZP No Longer Available
**15  Z-CP659TINP Steel Trigger Guide, Nickel Plated 1
**16  Z-CP6591SS Stainless Steel Spring Stud 1
**17  Z-65891ZP Steel Stop Adj Nut, Zinc Plated 1
**18  Z-CP6594SS Spring for Stop Adj Nut, SST 1
**19  Z-CP6588IZP Steel Spring Screw, Zinc Plated 1
**20  Z-CP6592302SS Spring Guide Washer Type 302 SST 1
**21  Z-CP65931SS Stainless Steel Main Spring for 43-L 1
**22  Z-CP14477T1AL Aluminum Handle Body 1
**23  Z-CP76231ZP Steel Rivet, Zinc Plated 2
::24 Z-CP6509INP Steel Tri'gger, Nickel P lated 1 @Indicates parts available only in Repair Kit
25  Z-CP6510INP Steel Trigger Stop, Nickel Plated 1 SDI Part #64-567
**26 Z-CP11757INP Steel Screw, Nickel Plated 1
**27  Z-CP13798INP Steel Trigger Guard, Nickel Plated 1 **Indicates parts available by special order only and
; are non-returnable-delivery time approximately 10
SDI Brass Spray Gun working days after receipt of order.
for Walking Spray Boom : :

PI12/5/06jh

Spraying Devices, Inc., P. O. Box 3107, Visalia, CA. 93278 Tel:559-SDI-5555/Fax: 559-SDI-5591




